
r_ (20 - 18) x 0.066 = 0.039
10.066 + 2.2421

&A& vi.1 i i%l%ti NW = 0 71: = 18 + 0.039

= 18.04%

th'dii  IRR  8mhJn75 = 18.04%9

NPVL
IfeK  = Is-=  t (DF - I)F )

" L (NPVL - NPVJ

= 18 t (20 - 18) 0.066
0.066 - (-2.24)

= 18.04% &A~~EIJ
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pl
G.iM  N = (15  - 5) x 3.960

it 15 + 8.93 + 6.376

= 39.6
3 0 . 3 0 6

-= 11  . 3 1

EC 367 4 3 7



NPV  = 9.3 ihAY7n i 0

B
7; =l.lS  >l

IlU = 18.04% > i (thiiu  12%)
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is 2.

A 1180 1000 1UO 1.18 20%

B 636 500 138 1.27 25%
-

EC367 4 3 9



Net average rate of return 8oJhsJnla  X = (200 ;525)/8

= 0.875

Lkw Net average rate of return BC3%rJnl4  Y = (300 ;020)'10

= 1.4

bTTS'.Lbh~Jtll4  Y %J?i  net average rate of return = 140%

~bnu&~b&mT~aJnx X iJ%i  net average rate of return a&J  87.5%

4 4 0 EC367



NW sFl15s9fl-n  n.

EC367 4 4 1
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1

2

3

4

5

6

'/

a

9

1 0

10

2

2

2

2

2

2

2

2

2

2

100

4

4
>

4

4

30

30

30

30

30

30

30

30

30
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&~UflBJhJll15  =

= 100 t 22.60 hUl?l

= 122s.60 imum

;;JtU NPV = 142.71 - 122.6 = 20.11 hmn

= 1.16

EC367 4 4 3



n = 10

= 1.3 x 0.177

= 0 . 2 3 0 1  iiuuin

= 230,000 uln
l

= 20.11 x 0.177

= 3,659,tioo  mn

.
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0

-=imm5  n .

SmJnl-3  0 .

/../

TnaJnla  w.

A

115GMwa
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&lM9

0 20 22 :I8 1 20 22 18

1 3 4 5 0.909 2.727 3.636 4.545

2 3 2 5 0.826 2.478 1.652 4.130

3 3 2 4 0.751 2.253 1.502 3.004

4 3 1 4 0.683 2.049 .683 2:/32

5 - 1 3 0.621 - .621 1.863

29.507 30.094 34.274

EC367 4 4 7



?~ui?l2%md~uda4  (Ki,Y

~~lM2M &ML&

200

> 200

400

> 300

700-

> 200

900

> 100

1000

z/200  = 0.01

z/300  = 0.0067

w200 = 0.01

l/100  = 0.01

*

4 4 8 EC367



ih2M i+mL& -ZlUXA iialAa96b~BI

4 3.2

> 1 > 18

5 50

> 2 > 20

7

8-

10

70

100.-

t20

30

20

1000/18  = 55.50

2000/20  = 100.00

1000/30  = 33.33

2000/20  = 100.00

4 4 9



&mu  (mm DF* dliM&iU~ .

3-i

Tfmfli5 n . %mfm  8. i = 8% Tpl7a-m  u.

0 2,000,000 2,500,000 1 2,500,000

1 300,000 500,000 0.926 463,000

2 300,000 0.857 0

3 300,000 500,000 0.794 397,000

4 300,000 0.735 0

5 300,000 500,000 0.661 340,500

3,700,500

diij;3~~0oJ~unnuanJ~~~Jni7  n.9 9 = 2,000,000  t (i00,000  x 3.993)

= 3,197,900  uin
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lmd 9

Tii? 9L%mmu  ’ ‘”~I’XN-WlLlq- dlLL%b¶lU 5aaJbllA WRlh~=iFldi
9

0 2,000,000 - 2,000,000

1 5OQ,OOO 500,000 1,000,000

2 500,000 500,000 1,000,000 2,000,000

3 500,000 500,000 1,000,000 2,000,000

4 500,000 500,000 1,000,000 2,000,000

5 500,000 500,000 1,000,000 2,000,000

EC367 451



= 2,000,000  x (3.993 - 0.926) - (l,OOO,OOO  x 3.993) -

2,000,000

= 6,134,OOO  - 3,993,OOO  - 2,000,000

= 141,000 uin

NPV = 2,000,OOO  x (3.993 - 0.926) - (1,050,OOO  x 3.993) -

2,000,000

= 6,134,OOO  - 4,192,650  - 2,000,OOO

= - 58,650 IJVl

4 5 2 EC367



fkl 1. mn9vk  il expected benefit Id 1 - 4

= (100 x .l)  t- (120 x -2)  t (150 x -3)  t (200 x .25)  t

(250 x -15)

= 10 t 24 t 45 t 50 t 37.5

= d 166.5

= $166.5 x 3.546

= $590.409

= 590.409 - 500

= $90.409

EC367 4 5 3



&I  2.

0% 5 2 5

15% 15 75

20% 3 0 so

35% 50 100

15% 70 80

10% 85 5 0

5% 100 1 0

= (0  x 251  t c.15 x 76) t t.2  x SO) + c.35 x 100) t

(.16 x 80)  t c.1  x 50) t t.05 x 10)

= 0 t 11.26 t 18 t 35 t 12 t 5 t 0.5

= 81.75 i-d

4 5 4 EC367



0 2,000

1 300 817.5

2 300 817.5

3 300 817.5

4 300 817.5

5 300 817.5

i%fiu 51 i = 4% ~lij3i)iiuaoJw~3llaa'bu~~~nln39 9

= X (817.5  x 4.329) - (300 x 4.329) - 2000

= s 240.2575

iWiuni7ri

\

wv  thmin)

nicih&m fl PI R

A -4 12 10

B 6 5 -5

EC367 4 5 5



mean expected value 0nJ~~l5ml-s A = (-4 x .5) + (12 x -3)

t (10 x .2)

= 3.6 hmn

mean expected value 'daJTwJf11-i  B = (6 x .5) t (5 x .3)

t (-5 x .2)

= 3.5 ihwnn

~~Ula~a5@a~J~taaM~~5Jnl%  A ~J%il0FlJ  mean expected value ~Jflil

n”ntsiliiu  3 . 6  hum  tt%Gilr  3 . 5  8iu~ln~itGm9~aJnls  B)

%W7’~fl  maximax return t5’171~t&1n%15Jnl5  A tW4%%U

4 5 6 EC367



A

B

10 0 0

0 7 15

maxima

1 0

1 5

minimax

10

dl mean expected value %Mniaii~l4o1l~~ila~nTnTJnla

dl mean expectef va.lue  0mImmi5  n. = (5 x -2)  t (10 x .3) t

(15 x .4) t (20 x -1)

= 12 ibuuin

dl  mean expectef value 0a4Tmmi5  0. = (1 x .l) t (5 x .l) t

(8 x .6) t (10 x .2)

= 7.4 hmin

tmm3t&nTmm5  n. tw5wTmmi~  n. T&i7  mean expected value

SrrhTnamia  0 .91

EC367 4 5 7
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Current ratio flmTc=t5m756Luil~  0 = g% = 1.33

Cureent  ratio fls3T~am~a’luti 1 = g = 1.48

EC367 459
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l4l~~MlI&  profiit  margin on sales ELIAS; 1 =-~:~~~ = -0.0395

profit margin on :sales  TM& 2 = 1.320 = 0.11069
11.925

profit margin on #sales 6LI&  3 = ,~:~~~ = 0.12331

EC367 4 6 1



Times interest earned h$ 1 = & = 0

Times interest earned %A$ 2 = i% = 13.33

Times interest earned h$ 3 = ?A%!! =  8 . 5 7
0.280
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lrnii  11
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